
T > 80

T > 10

I1 = SQRT(P_80K_target / R)

I1 = SQRT(P_10-80K_target / R)

I1 = SQRT(P_10K_target / R)

TRUE

TRUE

FALSE

FALSE

T = R_to_T(R)
(lookup table)

R = (V1 - V2) /(I1 - I2)

Startup Routine
(Returns I1)

First Scan?TRUE

READ V

WAIT

WRITE I

FALSE

N=1

N=1

First Scan = FALSEFirst Scan? TRUE

N=2
I2 = I1 / 2

Keep I1 & V1

FALSE

TRUE

Target Dissipation is 90% of LakeShore Limits

For T < 80K: 0.1 uW < Pdis < 1 uW: P_80K_target = 0.9 * 1 uW = 0.90 uW

For 10K < T < 80K: 0.01 uW < Pdis < 0.1 uW: P_10-80K_target = 0.9 * .1 uW = 0.09 uW

For T < 10 K: Pdis < 0.01 uW: P_10K_target = 0.9*0.01 uW = 0.009 uW

Main Algorithm

FALSE



Enter from Main

READ V

WAIT

I = 2.5 uA 
N = 1

I = I/2
N += 1

V > 32 mV

Startup Routine

SET I

V < 28 mV

FALSE

TRUE

I  = 30mV/V * I
N += 1

TRUE

Return I to Main
FALSE

V < 1.5 mV

FALSE

I = I*2
N += 1

TRUE

I > 19.9 uA

FALSE

TRUE

I = 19.9 uA

N ≥ 5

TRUE

FALSE
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